Practice Test Take-Up September 24, 2013

What's Going On?

Homework Logs

| Minds on One Last Little Thing

I Action! Practice Test

I Consolidation Any Questions?

Learning Goal - | will be ready for tomorrow's test!
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Homework Logs

| will be collecting them on Tuesday.
Do not throw out any of your completed homework.

If you don't want it, give it to me and | will hold onto it for you.
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Yesterday's F.F.M.
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Given the funcon

/[
g(x): @x—9)+3

b iely spcoockindes

a) Idenfy and graph its parent funcon on the axes provided.

FOO= I
b) Graph g(x) on the axes provided. \/

c) List the transformaons you applied to the parent funcon,
in order, to properly plot g(x).

d) List any invariant points between your two funcons.

e) State the domain and range of f(x) using proper notaon.

f) State the domain and range of g(x) using proper notaon.
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¢(x)=-3(-2(x-9)+3
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I Minds on

One Last Little Thing...

When we are dealing with transformations, we need our
functions to be in the form:

y=af[k(x—d)]+c
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When we are dealing with transformations, we
need our functions to be in the form:

y= af[k(x—d)]+c
Forf (x) = |x|, sketch the graph of g(x) = —2f(—2x —8) + 7

i) = "Z\'Zx—% \ = T
Huh?! That isn't k(x - d).... FACTOR IT!

9= -2 Jabr)| + 2

0. Graph the parent function f(x) = |x|
1. Multiply each y-coordinate by -2
2. Divide each x-coordinate by -2

3. Shift the graph 4 units left and 7
units up.
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When we are dealing with transformations, we
need our functions to be in the form:

= af[k(x—d)] +c
Forf (x) = x?, sketch the graph of g(x) = f(4x + 8)

g(x)= (‘“ber%)
) = [4 (x42) 1"

0. Graph the parent function f(x) = x2
1. Divide each x-coordinate by 4

2. Shift the graph 2 units left.
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When we are dealing with transformations, we
need our functions to be in the form:

:af[k(x—d)]+c

Forf (x) = v/x, sketch the graph of g(x) = —f(—=3x + 3) + 4

A - J2x+s + Y
A CTDR
(%)= ‘\)"SO(—V Jr‘f

0. Graph the parent function f(x) = /x

1. Multiply each y-coordinate by -1
(flip about the x-axis)

2. Divide each x-coordinate by -3

3. Shift the graph 1 unit right and 4
units up.

12
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When we are dealing with transformations, we
need our functions to be in the form:

= af[k(x—d)]+c
Forf (x) = x?, sketch the graph of g(x) = f(3 — x) + 2
9= (b=x)" £2_
209 = (-(x3)) +

0. Graph the parent function f(x) = x?
1. Divide each x-coordinate by -1

(flip about the y-axis...has no effect
on a parabolal)

3. Shift the graph 3 units right and 2
units up.
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I Action!

The Practice Test

. : 1. . [
1. The domain of the function y = = 18 wﬁl_‘_ A\U'AQ' ly OI

2) {x € R} O {x ER|x£0,=1) d) {yER|yZ0)

2
2. The vertex of the equation y = —3 ( — E) + 2is:

Ladted rig‘»‘\‘

a) (-1/2, 2) < b) (1/2. 2) ¢) (3.-1/2) d) (3.2)

3. Which of the following relations is not a function?

a) b) c)

Bt A4

0 4
| =

wd ST,

4. Which relation is not a function? Mu H' 1Pl \JA\ucS

a)yv=3x-7 @ c)v=-2(x-3)*-9 dyv=x
( ‘If‘ 2

5. Which of the following is the parent function fory = 3vx—2 + 7:

a) f{x) = x b) fix) = x2 o) f(x) = ||

6. State which relations are functions. Explain.[2]

a} {('2" ])" ('] : 2)* (0- 4}' (1'- ])" (2"' 2)} b)

YeS.' eadn \Ia\uc o'F -
trenbigndet uanable mpps T
10 e value ot H depadert
VAT iable
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7. Determine the domain and range of each relation and state whether the relation is a function. Explain
your reasoning,. [6]

a)y=—-2vx—2+4

PareA- %(ML-HD/] s —R%): ﬂ
[Z:ZAMAE/\ ‘-—E %_Xﬂ%é( 13 ("7/}'03
| (vye = 7 y& Y?/ O
TL\IS 'Y'(r‘f;"lla’\ has bcfn shited 7 l,.,\'|—\—j r.'jL-\-/
Lf YL T up md has been (fﬂeo{'zc{ I
the x-axs |

The relation IS a function because it is a
member of the square root family.
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b)y=3(x+2)?*-4

PM(n‘\‘ %Mnd‘.’on ;S %&):X =
L7 QWVM\I\/\'—E)(é lﬁ}

L? P’Mﬂc=% yé ﬁ/}/}@%

Funcdion has been shifhed 2 1 (po eFFe t
on Aorw\i;) ond L’f mils doon, Cw(,\

Sl gpos up

Doain~ § x & R, ¥ALL PhOICAA

Moy~ 2y y2 43

The relation IS a function because it is
a member of the quadratic family.
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Part B: Application

1. Forf(x) =x%+ 2 AND g(x) = 8 — 7x, evaluate: [6]

2 g(_3a+ 1) P“* " ;of X
Y
g(-%a+)= % “F(-3a41)
= % \-2'0\—7\
< [+2] 4
2
b)g(-3a+1)—fla+4) — [% :‘7‘ ('?W\*',)l _[(N'LD +2}

Fol

=B 2l -F - () 17_|
- [‘ t2 4\1‘[4”‘64&% +Z}
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c)x when g(x)=5

/)(M"«‘é-?x
- -*?)(
2
-5 - 7‘)(

September 24, 2013
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2. For the function f(x) = ;x + 2, determine the inverse and sketch the graph of the function and its
inverse. [3]

| 5 A
_ 3 - | 1 1 1 _3 | | | | 4 '
V=gael e /

21
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3. The function y = f(x) has been transformed to y = af[k(x — d)] + ¢. Determine a, k, ¢, and d;
write the equation; and sketch the graph of the transformed function. [6] A - . B
m—_

\<-— 2— — a"‘ e '\\.I\ft
w ——— ———
A horizontal compression by a factor of > a FeflecTion in The x-axis, a horizontal translation 3 units to the

left and a vertical translation 2 units up are applied to f(x) = +/x. Set up your table using x values 0, I,
————————————
4, 9. N +
p ‘Z PN‘(A

gl)= = J20x3) + )

X

Y by

O

N -C —0 X)“(]
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Part C: Thinking/Inquiry/Problem Solving

4. A farmer has 90 m of fencing to enclose a rectangular area and divide it into two sections as shown.

Widthis X
% * < n‘\' ; 40"&)(
‘fj ‘r\iS =

a) Write an equation to express the total area enclosed as a function of the width. [2]

A()(): Kx(/\)

Al) = (4022 ) (x)

’AI(’() = A0x-24%

A(X):HSX_E T
2

f(x) -

- 2
2% +15x
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b) Determine the domain and range of this area function. [2]

AL = /x 5%
“The 3“(’\'\ ERPN PIAN\MI\, Y “\nz, AOmm l

@,\ %w&(ﬁg

_71; Yiod U range. L need ke yerkeX...
Al -2 S X “ Yoy LALUOR

40 260065 ﬂ\’\—
)‘ 'Ex(x- O> ><’OO,90

UQ(‘(C% ‘N\\' X= ‘5
Luhat's Y- W\(u(

;- 2315) (15 -%0)

A() (2129 (- -15)
() = ,%7.5

So et s At <(‘S 237 S) n”j’ﬂllvc,/

MY [ cause o = l

-+ Bng= SR ER =

() <7, 9}
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¢) Determine the dimensions that give the maximum area. [2]

A = /x +Lf‘5>k

(/\)0— A reaAy {cnaw "H’\ ’k_

X=15 at fle uerkex (nax o)
'H'\é’- AAA'H/\ 1§ !S

;rvf"; earll(F
,Qc'njjrl« 0-"5x
2_
-~ q0- 3((2)
-0 LI
- g5 &
2
': 2 g
L)‘IAHf\"" (S

fp,,j*\,\ :ZZS L"l‘”‘ MaX afe4 /:( 4(}),}‘,(6(
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Part D: Communication

1. Explain how to determine the inverse of a function given: [4]
a) An equation.

1. Swap your variables (often x and y)

2. Solve for your previously
independent variable.

3. Write as fi(x) = ...

27
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b) A graph.

Reflect each point across the line y=x

28
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c) A setof points.

Swap the values of the independent
variable (often x) and the dependent
variable (ofteny).

29
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I Consolidation

Any Questions?

email me: (david.gilbert@+tldsb.on.ca)
OR

come and see me at lunchl

30
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